ER DO (FEERE) RERE
il 1

(1)2x(—=5)

(2)5x(—17)
(3)(—4)x(—3)
(4)(—19)x7

(5) (—2)x(=7)
(6)4x(—3)x(—2)

2

(1)(—6)+2
(2)16+(—4)
(3)(=8)+(—2)
(4)(=3)+(—1)
(5)(—56)+(—8)

(6) (—135)+(—=3)+(—5)
@3

(1)6x(—8)+(—3)

(2) (=9)+(—=3)x(—=5)



(1)—10(2)—85(3)12(4)—133

(5)14(6)24

(MBaD#H1D-
(2)8DH1D>-
(3)ED#H2>-
(4)BEDH1D-
(5)END#2>-
(6)EN#H3D-

2

2x5=10
5x17=85
4x3=12
19x7=133
2x7=14
4x3x2=24

(1)—3(2)—4(3)4(4)3(5)7(6)—9

(HEan#H1D-
(2)EnH1>-
()ED#2>-
(4)BEn#H2>-
(5)EDH2D-
(6)EMN#H3D-

3

6+2=3
16+4=4
8+2=4
3+1=3
56+8=7
135+3+5=9

(1)16(2)—15

(HEan#H2>-
(2)BD#3>-

6x8+3=16
9+3x5=15



